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A & 0l & AF 2 E A A
20138 & =04k LBHSIH Ao F A AR ~ FSHH A A It
AN oS A L
M AotA ALY JlEtEH
Sl MEYSMY SHX CERED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
S ot A Ak It 6,270,683 7,854,563 A 1,583,880
= 205,280
& 473,000
< 200,934
Al 5,391,469
A JlBtR A 3,479,700 4,769,700 A 1,290,000
< 190,000
Al 3,289,700
ety sdX# 3,479,700 3,119,700 360,000
< 190,000
Al 3,289,700
dF==HLsH H= 1,790,000 1,490,000 300,000
< 190,000
Al 1,600,000
307 21201 A 1,790,000 1,490,000 300,000
< 190,000
Al 1,600,000
03 Mt8lEHHEXS 1,790,000 1,490,000 300,000
Od==HMIatH M= 1,790,000
< 190,000
Al 1,600,000
doi(gas) 2dex X 400,000 445,000 A 45,000
307 glz2tol & 400,000 445,000 A 45,000
02 RIZHE A E X 400,000 445,000 A 45,000
OZsH(gas) 292X X 400,000
FAMU0ICIHAE K& 80,000 80,000 0
307 21201 A 80,000 80,000 0
02 2ItFAEX 80,000 80,000 0
Od=AROICAHEEH XA 80,000
SSgEZatH HE X 20,000 15,000 5,000
307 21201 A 20,000 15,000 5,000
02 2t a2 X 20,000 15,000 5,000
OX==EIGSHM Hal X 20,000
SAFAIE 2tel 2,700 2,700 0
201 £B-2dH| 2,700 2,700 0
02 =224l 2,700 2,700 0
OZALAIE 22l 2223 2,700
st A HEAY 40,000 40,000 0
402 RIZEX 20l A 40,000 40,000 0
01 RIZEAI2E X 40,000 40,000 0
O=gds A tiaAe 40,000
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AN oS A L
Ha: WG E
Sl MY ST CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
||| onassaie xa 350,000
FESDIE 25 709,179 1,186,671 NATT 492
= 205,280
= 10,934
Al 492,965
NEFSstael 709,179 1,186,671 NATT 492
= 205,280
< 10,934
Al 492,965
FES0ES 22 40,300 10,300 30,000
201 Let24E] 8,800 8,800 0
01 At 22l 1,000 1,000 0
O&EsiE 82 & Aldae] 1,000
02 =224l 7,800 7,800 0
OYESZEEs0Is NE 2223 1,000
OFEs0IE2 (A= ,88) EHOIX RAES
3,400,000 *204 2 6,800
301 L2 A S 1,500 1,500 0
10 #ALAHIE &3 1,500 1,500 0
OFES0IS9d 3o & NEES S
50,000 *53| x3H «20H & 1,500
403 MtXISHHE A0l & 30,000 0 30,000
02 S| 2 S0l CHSHCH & A B 30,000 0 30,000
OFEs0I2 EHOIX HE(AE2H HE)
15,000,000& 271 Ot = 30,000
dEsiE ZE20daeN 84 32,712 32,004 708
= 5,280
< 8,434
Al 18,998
307 glz2tol & 32,712 32,004 708
= 5,280
< 8,434
Al 18,998
02 QltFAHE X 32,712 32,004 708
OFLS0tg T2 24 32,712
= 5,280
< 8,434
Al 18,998
=XXNEE =M 150,000 150,000 0
403 UHXISHE X201 & 150,000 150,000 0
02 S| 2SO0l CHEHCHE AL B 150,000 150,000 0
©1/1,000 =X X&EE =HH= 150,000
SUHEEANAE KX 22 44,000 66,000 222,000




2N

M HESIIE 2=
& XNSFEstete (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 Lt 44,000 66,000 A22,000
02 =224l 44,000 66,000 A 22,000
OPQIECHY GISAIAE & HW SN2 44,000
T2 XKSHAIEE AL AHY 400,000 800,000 A400,000
= 200,000
Al 200,000
401 AIEHI L 2 CHYI 400,000 800,000 A400,000
= 200,000
Al 200,000
01 A& HI 397,120 795,000 A 397,880
OLZ22 XNotAld= 0I7*=XS BH= 397,120
= 200,000
Al 197,120
03 Al 2 THHI 2,880 5,000 A2,120
OT22 XotAIEd2 0I7=XE BR= 2,880
SAMEHIISAAE SR 22 17,567 17,567 0
201 Let24E] 17,567 17,567 0
02 2324l 17,567 17,567 0
OZANMEHISSE22ANAE RAE>
292,782,000%6% 17,567
SHEHUHAE S 22 9,600 10,800 A 1,200
201 L4l 9,600 10,800 A1,200
02 =224l 9,600 10,800 A 1,200
OREQHUWE HE3H AABZ
40,000& 2004 &+ 128 9,600
2t 8 2¢ 5,000 0 5,000
201 ¢er24l 5,000 0 5,000
02 =224l 5,000 0 5,000
ORHgdE= 249 KXl 5,000
SHUAHAE 2= 10,000 0 10,000
< 2,500
Al 7,500
402 RIZEX20| A 10,000 0 10,000
< 2,500
Al 7,500
02 QI2HCH & AF S HI 10,000 0 10,000
OMHAIE RHRIHHE 2= 10,000
< 2,500
Al 7,500
HY2LIH (IS4 D) 41,804 45,192 A 3,388
Jl2ZHl (gt atabed ) 41,804 45,192 A 3,388




<

n0

Kio

Hl w

N 3,388

A 3,508

A 3,508

120
120

H3r
Wikd
RIS

45,192

22,032
22,032

20,160
20,160

3,000
3,000

Off &t 24

41,804

18,524
18,524
9,880

1,000
7,644

20,280
20,280
20,280

3,000
3,000
3,000

=]
ol
<0
30
]
30

Jl=2AHI(

30
0B
o)
oll

01 At2 2t 2l bl

00
+

oJ
oll

-

00
<+
30
0

01 SLHOYI

202 o4 Hl

&J
KE
ok
3l
H

KJ
KE
OF
ol

1128

=

=Y

250,000




